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1/ Choice of particular graph depends on :

3

(A) Purpose of the study (B) Type of the audience
(C) Nature of the data (D) All of the above
55 Als( uAell Y IR AN B,

(A) el &g (B) Hasi-l usR

(C) el 3w (D) GUAsd quy

=,

The basis of corporate tax is -

(A) Total tumover of the company

(B) Profit after distribution of dividend
(C) Profit before distribution of dividend
(D) Total Capital employed in the company
SRR 28 AL R dRuY B 7

(A) Sulld ga edlar

B) Rl agel oie-dl sl

(C) Rl adell ysdi-dl 45l

(D) Sudlui AsAdl ga 4

g1l M2 5232 stuel A 2Ll viedd] sidgx sut Rad eidl weill ?

< (AL 5 ABia B) 6 3B

&

5
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(C) 7 vua (D). 8 e

The optimum output is the one which is produced -
(A) By the optimum firm.

(B) At the maximum average cost.

(C) At the minimum average cost.

(D) At zero marginal cost.

$edd Guled 2ed Ad Geuled 3 %o ..........

(A) =dd U4l gl Geutet Yy

(B) eérd uu vl W Geulerd A

(C) dydy AN vl Y Geulen iy

(D) 4 AHid Wl yR Gewed w1y

WAL Fgs gult 520 A waepisl warsdl gult 2

ollalll (95 5207 euadly 20l 1 wuEsd weudl.
(A) »i[Esa-68 (BY- »1[254-75
(C) 2ulesa-51 (D) ulEsa-74

/
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Fn which method of the following methods the value of closing stock
is near to market price ?

(A) FIFO o (B) LIFO
(C) Weighted a\‘rer'agc method (D) None of the above

- 13 uglil 58 wghini 2un 2s et oo olasdl 4ms §1u S ?

(A)- FIFO (B) LIFO
(C) *iRd AU uglt (D) GuAsd U4 Asual el

s Aol seuten o)S gL HRar el @t el ictold Hlsal
o021l WLl o+t 2 Aal Brusi ‘seatel’ a3l dedl 254+l Ae
ML 209 ) ? )

(A) 3. 5,100/- (B) 3. 7,500/~

(C) 3. 10,000/- (D) 3. 11,000/~

Which objectives government attempts to obtain by budget ?

(A) To promote economic development

(B) Balanced regional development
(C) Redistribution of income and wealth

(D) All of the above
o2 gll ARSIR 4l &g [Rig 5L Wil 5287

(A) ulls RsRA e

(B) ddRid MRS s

(C) as wA Al Y ETNEL]
(D) GuAsd dHIA

At the end of the fiscal year, Accounts Receivable has a balance of
Rs. 1.00,000 and Bad Debts Reserve Account has a balance of
Rs. 7,000. The expected net realizable value of the accounts receivable

is ?
(A) Rs. 1,00,000 (B) Rs. 93,000
(C) Rs. 1,07,000 (D) Rs. 7,000

Aendy -t 2, 2AelR 3. 1,00,000 1A waviy wiiid vig 3. 7,000
& aieidl WAl 1R - el dvy dirdls Y § 8 7

(A) 3.1,00,000 (B). 3. 93,000
(C) 3.1,07,000 (D) 3. 7,000

AA184_B Page3
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The present financial statements are presented by which approach ?
(A) Revaluation value approach

(B) Historical cost value approach |

(C) Present purchasing power approach

(D) Gross assets approach .

At ARl Yas) 4L UMM glRL Y Sl 2 ) 7

(A) Wripedis Bad o

(B) BRieiRes useR Baud Aoy~

(C) adHi wile alzd xR

(D) e Au[-A A2

Fill in the blank.

Every man, woman and child lost.
(A) were (B) are
(C) was (D) have

Which of the following would be considered a risk-free Investment ?
(A) Gold (B) Equity

(C) High grade corporate bond (D) Treasury bills

AAAL U4 WA AH Asd A5 280 wsy ?

(A) ld (B) €lsadl

(C) G2 Yyl slulR2 6ll=s (D) 233l Mie

512 - AUl % YL [ A8 - Aoyl 56l B A YoreL wRkieldd,
AAAAL Al sladti-l 2RY2Y, 20 AL2A. el wRs A ‘w1 Qe
5300 [QaAY e1d” Fdl s10aAMR 5L AP A1 e,

(A) 4PBESR 2D oz (B) ~1RigRuq edlou-te Rada

(C) 2Nad-uy q4auy Budl (D) eaddud SRy S8R

Standard deviation of a sampling distribution is called :
(B) Mean square error
(D) Non-sampling error

(A) Root mean square
(C) Standard error

fead [dRe e ulid g 58 8,
( A) 4 AAY 93] (B). A3y 99l o
() wile el (D) Pasifteddt oe
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15/ f‘-;qlﬁm pegetsl ARMAHL A+l Qi NAmiel 54 )2 R B A
2.
(A) A1 v RRWRg .
(B) d-l »us Bisleusiz 253y Yl 8.
(C) de YRR 2534 Aql »e [sel 8.
(D) A URUR N 534 €1y Ad] 2116 HIR B,

y(? X 1‘; ]?;Ch value of &, f(x) = x> — 3x + k has two distinct roots in

(A) 0 (B) -1

(C) ken (D) None of the above

kel 56 Dt W2 RAY £ (1) = x5 - 3x + AR & Pz ya (0, 1) 2auardl

2igR 24 ? 7, ot

(A) 0 B) -1 < N

C k 3 ot ,S‘f’)

(C) ken | (D) Gudst A4 Asuat A )/j@“
17/ Change the voice. gt,o 2

Did you attend the meeting ? -

w(A) Is the meeting attended by you ?
(B) Did the meeting attended by you ?
£C) Yes. the meeting was attended by me.
(D) Was the meeting attended by you ?
Vi

The first auditor of the company other than a government company
shall be appointed by the Board of Directors within days of

incorporation of the company. ' . .
w51l susll Rranael su-ll- e 2iRe-l [raeLs dalas Hsa gl su-i-l

22 YLl Raudi satil 21qdl.
(A) 30 (B) 60
(). 90 (D) 120

ngazr{l AU AR 815 a3 .mp3d 43 1 4 O ?
(A) Moving Pictures Extensible Group

(B) Moving Pictures Expert Group

(C) Moving Pictures Exchange Group

(D) Moving Pictures Encoding Group

20~ Which kind of audit is conducted generally between two annual
audits ? .
(A) Internal audit (B) Interim audit

(C) Final audit (D) Continuous audit
syl usi-L 2R A Ad & alils 0B @23 sl A B 7
idRs 202 (B) azena-l 2R

(C) ilay R (D) dd iR

AA184_B Page 5
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38
*%
\77' MM Ui wgls 2euo vl Rd Y.
(A) 3.6 (B) 7.8
(C) 34 (D) 5.6
) Z\Z/Who among the following used the term 'Evergreen Revolution' for
f increasing agricultural production in India ?
( (A) Norman Borlaug (B) M.S. Swaminathan
; (C) Raj Krishna (D) RK.V. Rao
) HRAML 50 Gt adiral W2 Al AD Uelote1R sik wed Guailol
j KA 7
7’ (A) el sidla (B) .2, @12
| (C) u¥gwl (D) 2R.3.dl. uq
(
s 23 A el QY. | ;
A yed O (B) PR e
ot (€) ¢t (D), ARM

\Zj The Primary goal of the Financial Management is
(A) To maximise the return

W

933@, (B) To maximise the risk

e (C) To maximise the wealth of owncrs

XA - (D) To maximise the Profit

i ARl due wals Gy 8,
(A) A9dR HexH si-lag

{ (B) AwH HeuH 59

©) lasil Aulk Heay s
(D) 5l My $24d)

20 25 /.{151 A woefl AHiell 208, o))

‘Q . S+ -
(A) [RsRR (B) g
() H-lleun (D) &ML

(A) Standard Costing
(B) Marginal Costing
6 (C) Budget and Budgetary control

(D) All of the above
A2l sut duadly Rl ughirl atq @ ?
(A) HHIBL Y3dR vgli
(B) lMid wid2 ught
(C) a%2 21 u¥2 [iog

W (D) GuRsdt daxiy

@ AA184_B Page 6

j6 Which of the following are tools of management accounting ?
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| Ey'{;,ﬂa'ud AR ARL A s (e viaold ga Jeal ouridla yeedd
gl Al »1da B ?

| (A) uld (B) vin
C) == (D) +a
28  Skin colour of people of a region is :
(A) Ordinal data (B) Nominal data
(C) Discrete data (D) None of the above
] As upuAl AL el B,
' | (A) sHuas Whdl L (B) s Huledl
(C) Audd Hlsdl (p,)ftmil&d U4l Asuwl A&l

29 . Which of the following is a non-probabilistic sampling technique ?
(A) Simple random sampling
(B) Stratified random sampling
(C) Systematic sampling
(D) Snowball sampling
A1 A4 56 Ri-2icidniets Medd vala 8 7
(A) A\ 4ew (el uald
(B) «dld yexs Medd ualt
(C)—uRs Fedn vala
(D) lolle Med uali

Mhich country stands at the top in Human Development Index ranking
in Human Development Report 2020 ?

(A) Sweden (B) Australia

(C) Norway (D) United States of America
I Hida sl vdald 2020 Yrol Hi4a sy xis) 2eidddi s4) 2a wam
1 2B 7 -

(A) el (B) »{izglaul

(%) Ald (D) 3A[xsl

31 1A 2«0dl Esed i sul wse a4l A el
(A) [ag+ (B) A
(C) uld (D) s\lue

32 Normally which level of Current Ratio is considered as Ideal /

_—Satisfactory ?

A=y Ad Alg dRidel 54l uMed vied [ Adnsig ditasi »ud 8 7
(A) 2:1 (B) 1I:1
(C/) 3:1 (D) 0.5:1

AA184_B Page 7
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\jé s Bkl A vulaa addl siedl Aeol gl Awens Mgl Rfad

Yadse At 2. o
(A) Asau- SR deloa AR B b slflai-e Asurt

; (C) 4 sedl{law2 A2 (D) « Ao 2l AR ~2
f ¥} @

¢ . . -
J" R | o0
9 \3‘7 llm"_.’w(—x-—ex—l):—_“ -
- I
(A) 0 B 3
( T g
©) 1 (D) Can't be determined
lim (l_ 1 J— S
9(,’6 e P ;—-{
o (4) 0 ® 3
1= © 1 ) A Aad usw
ar

35 36 Ball/sats 1A 45 Ba{l/saus-l msﬂ:& 2 AR 20 . M) 2nni
Al e el 24 8 Aseeul WU B, dl 3¢l Rerfl e el

——

(A) 80 122 (B) 100 2z
©) 120 02 (D) 180 a3
5T o
A ﬁ If the gross profit is Rs. 5,000 and the net profit is 25% of the gross
;. profit. The expenses must be ?
| (A) Rs. 3,750 TE) Rs. 1,250
‘ (C) Rs. 4,150 (D) Rs. 6,250
| ™\ % 53l 441 3. 5,000 4 2 Al 18] B AL Attt 25% B, dL vl ded
=\ dal A3 ? | g
s &) (A) 3. 3,750 (B) 3. 1,250
©) 34,150 (D) 3. 6,250
vl WBsdlA iy e 31N YPid vl soud g 58 8 7
\/(A) Alddlsel (B) [Riuiddlsaa
%7 (©) sl e A (D) AR

@ AAlsd; P“.g" 8
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38, According to modern theory of rent, rent arises on -
(A) Labour only (B) Capital only *
(C) Land only " (D) All factors..
A1YFLs ol Riaid et o A4 R Bged B 7
(A) ™ot 313 GWR (B) ot il 6w

(C) At ¥l Gur El D) ot WRAGl GuR
N
39 Aartd 222 As2 sut i adaiui el ?
v (A) 2003 ;r (B) 1999
(C) 1992 ~ (D) 1990

40 In case of perfect substitutes indifference curve is -
(A) Right angled o) (B) Linear upward sloping
(C) Linear downward sléjj_ling (D) Concave to origin

- dyel A axgil MR na::el};?vu 3l €y 8 7
(A) el iy vell wad (B) M -t awawell
(C) Y .l el & (D) 2id:2la
-
41  26de sl A Alid R su 8 ?
" (A) PDAs 2d2, 5343042 (B) PDAs 2ed2, lagjs 2ede

(C) Q2 26d2, ueHs 2042 (D) 2@ 2od2, sléna 20d2

0

(‘f‘>. . i
42 Which of the following wwill directly increase the Gross National

e 5
(A) A rise in prices

— (B) A surplus in budget
(C) An increase in investment (D) A deficit in budget
AAniell 54 gAY YeluHi Hedg auR) 53 D ?

(A) Budui auRl - (B) »leluani yRiq

(C) HAAseri Rl @ (D) 2eluaAni wiy
. o

t"l“”]

Q)

43 54 knvh L 29 8% AR5 2l ved s ™! s Jeell i ?

(A)- 15 ms™! i (B) 90 ms~!
-
(C©) 1.5ms™! (D) 9 ms™!

AA184_B Page 9
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'
Q—.

Who coined the concept of management accounting ?
(A) James H. Bliss (B) R.N. Carter
(C) Philip Cotler (D) FE.W. Taylor
dauafly Rl ughid v A8 2wl ?

(A) ¥ A, edly (B) 2.2, 512
€) Bl seaz (D) N§.301¢y. 24R

/ Find out value of accounts receivable from following : Cash Rs. 48,000,

accounts payable Rs. 33,000, office equipments Rs. 21,000, owner
equity Rs. 77,000. '

(A) Rs. 21,000 (B) Rs. 41,000

(C) Rs. 15,000 (D) Rs. 11,000

A2 3.48,000, Ysadl yist 24 3.33,000, 2ABA-L 214 3.21,000, Huxdl-
Y 3.77.000 €y, dl 2alelRl] yed k).

(A) 3. 21,000 (B) 3. 41,000
(C) 3. 15,000 (D) 3. 11.000

Hey uz el ged %R AL sUL oA Preettell ge HA B ?
(A) PR - eldle (B) eldle - ¢l GRYR
(C) 121 Geyr - ¥l (D) vaueld - sléle

/An increase in variable costs results into

(A) Increases P/V ratio

(B) Reduces the contribution margin
(C) Increases new profit

(D) None of the above

At vl a4Rl Wi uRel B ?

(A) dl/dl ) a8 &,

(B) sl auel yeR 8,

(C) Adl <8\ 944,

(D), GuAsd U4l A5 yeu 4,

- Fill in the blank.

Mr. Roy whom you met last night is my uncle.
(A) A (B) An
(C) The (D) No article required

AA184_B Page 10
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49 A2 20a disa-l 4oy sdRudlar oeudl,
2 ey MYl ey A e,
(A 2t ¢ ofg A el (B) A 2 ¢ oyl 2.
(C) At § ofdl %Su. (D) A 2u § 044 .

50 Pradhan Mantri Jan Dhan Yojana (PMJDY) provides access to which

v of the following financial services ?

(A) Pension

(B) Insurance .

(C) Banking Savings and Deposit Accounts

(D) All of the above

WA et Qe 1A A4 55 Audly Al mé (mulo[l 87
(A) U-un

(B) Al

(©) sl Ad 2 AYRL Hidl

(D)~ GuAsd

51 A 210d sdad-Al =l xelsey Y.
L ol i adfl siedl 3 ?
(A) 604 sindl vdlas as.
(B} %A vitald « €ld d-fl wd au- syiell ?
(C) q A% A 2qdlg egdl =y 8.
(D) anxidl 22 sidl usidl 4.

52 Let f(x) be a polynomial with real coefficient with f(x)has no -
multiple roots and f(x)) f(x,) <0, where x, <x,. Then
(A) f has exactly one root in (x,x,)
(B) f has even number of roots in (x7,%5)

(C) f has odd number of roots in (x,x,)
(D) None of the above

(s egeisl 4uadl ogudl £(x) A yriakld 3o 4l qul
© o S(x)f(xy)<0 3oy AL N LY | —

(A) 38 % 4 viqua (x;,x,)Hi 8.

(B) /1 Q8L AU 4o vidua (x,,x,) i B.

(C) /A A8l vyl Yo vidue (x,x,)Hi B.
(D) GuRlsd U4 35 var 4,

AAI84 B Page 11
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A3 Alarert gerllen wid dra el g e &, sl Yot 2ll garan
gL 2L o el Rl MsiR- a0t Ad1, a1 Heust 20 Rl

Sl Gedul sl A B, Y YARIAL NOURAVIHL L §3+L 54U el
Gedul sl 2l B 7

(A) Gwwd §3 (B) dailes g
(C) -%d §3 (D) dcdlwd §3
54 If y=sin(2x) thend—%:'z
Af y=sin(2x), =3 .
; o
(A) 29sin (2x) (9 sin 2.r+-—2-
© 27 sin(2x+2§t—) (D) None of the above
d9y
A y=sin(2x), dl —5 = ;
y=sin(2x) I
. o
(A) 29sin (2x) (B) sm(2x+TJ
(®) 29 sin(Zx +—9—ZE) (D) GBuAsd Y4l As yel 4l

\y A% wonl Vel 14 enrde olle, Sl A 332 Anai (e3sui) 20 wand
B, oade olld 21 €14 Vidl 12 Aedl 8. €14 21 B2 31l 11 wend 8.
Bz 2R olrde ol Widl 10 vedl 8. 5 Aaldl 84 wid 3 8. dl g

weldl dedl ?
(A) 30 B) 32
(C) 33 (D) 60

Fifth decile of a distribution coincide with -

(A) Second quartile (B) Fiftieth percentile

(C) Median (D) All of the above .
Ridetl i suiasdl BHd A As512 UL B,

(A) [l ugds (B) uARHL Adind

(C) u=y (D) GUAsd auld f

AA184_B Page 12 l
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89~

60

61

Which of the following is a positional average ?

(A) Mean (B) Median

(C) Geometric mean (D) All of the above
AL U4 sy 2 IR AN D 7

(A) Hws (B) w3

(C) dRldR HWS (D) Gulsd dud

Which of the following is not an instrument of Monetary Policy ?
(A) Open Market Operations  (B) Bank rate

(C) Selective Credit Control (D) Government Spending
Aiell 53 Aeusly Ak 2wt el ?

(A) vieal sl -l (B) 65 €2

(©) wiedlysd vt [ (D) Al v

Wl el k.
(A) Hyye-d (B) bl
(C) wuslel (D) qase

If a test rejects the null hypothesis when the null hypothesis is true, it
is a -

(A) Type-I error

(B) Type-II error

(C) Either Type-I or Type-II error

(D) Non-sampling error :

aselly ulsendtt ARl €y, wig udlawt gl A Fusely uRseunid
2dls1R s3a1Mi 2014 dl QA 58 8.

(A) wuy usirdl ojd

(B) Gdla usik-l o

(C) mant 2udl adld usi) gy

(D) RaAlesdd oqe

Wit el SEd-l USR] ey, |
el ellaq aing -ell.
(A), WY sEd

(B) admirgéa
(C) eilwgia

(D) oqdsid

AA184 B Page 13
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irve for a commodity shows that its demand is -
il (B) Perfectly elastic

62 \ The vertical dem
(D) Less clastic

(A) Highly elastic

(C) Perfectly inelastic N dl Al e el 3l sa ?
31 STEEA Glel sl :
(€) iyl yeu (Rl D), ML
ﬁfy‘f Give adjective of : o
= IFl(.'tiﬂ'.' (B) ‘Al and IDI
(h) Loty (D) floatable

(C) floating

@/I Management. accounting deals with which _illf'()l'n:lation 2
(A) Qualitative (B) Quantitative
(C) Both (A) & (B) (D) None of the above
dadly Raol uglt 58 Mfsdl 0l 2Aeifad © 7
(A) 28U (B) Avlcds
(CQ) (A) ¥4 (B) ¢ (D) Gualsd Ugl s wol Al

65 | The retiring auditor does not have a right to
\_/ (A) make written representations |

(B) get his representation circulated

(C) speak as a member of the company

(D) be heard at the meeting

(gd 20R224 MR A,

(A) aldd %ild 52ql)

(B) Al il adel s2ai) (3raqi)

(C) Syl wou adl} odlaquH)

(D) Bl yiowar]) |

66, AAA stands for ?

\/ (A) American Accounting Agency
(B) An.qerican Accounting Association
(l_(;) Asian Accounting Association
(D) Australjan Accounting Associatiop

AAA A2 4 7
(A) wQsq AsIG[Ra Nogeal]

AAlI84 B .
i
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67 Fill in the blank.
~  Police department arrested some

- ' elements from the society due
Y to riot.
(A) ensocial ‘ (B) socialist
(C) unsocial D) antisocial
( /)/ ntisocia

68 Which of the following statements is incorrect ?

(A) Liabilities + Assets = Capital

(B) Assets — Liabilities = Capital

(C) Liabilities + Capital = Assets

(D) Assets — Capital = Liabilities

Al 5y R Wi & ?

(A) el + MHasdl = 3l

(B) Brasdl — waeeidlil = 3l

(C) wausteldlyil + il = Hasdl

(D) Biasdl — 3d = yaeedlil

69._During a reporting period, a company's assets increase by Rs. 8,00,000.
Liabilities decrease by Rs. 2,00,000. Equity Fund must therefore ;

(A) Decrease by Rs. 10,00,000
(B) Increase by Rs. 10,00,000
(C) Decrease by Rs. 6,00,000

(D) Increase by Rs. 6,00,000
wdara-l wnuoual s, sudll Basdai 3. 8,00,000-1 auiRl Al
& ogaogfl20Hi 3. 2,00,000-1 qaldl wdl 8, A4 518 sl eldan

u3l,

(A) 3. 10,00,000- =il
B) 3. 10,00,000- aHIRL
(€) 3. 6,00,000-) q2idl

(D) 3. 6,00,000- a1

70/ When standard output is 10 units per hour and actual output is 12 units
< per hour, then the efficiency is ?

13 UHIRLA Geulert A5 SALS €ls 10 AsH E1U B 24 WAUR Bedle-d sdls
gls 12 sl €Y, ol stdaMdl dedl el ?

(A) 20% (B) 80%
(©) 120% (D) 220%

AA184 B Page 15
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\y‘ 4 A al 2ifl 20 Biedi M 8. B 1 ad 30 Pifeui o 8. A 4q
Alg sul oite 10 B2 usl B A0 vilaanii »ud dl 2i8l sud g
B2 ardl.

@A) 2 (B) 10 @rf’
—i
©) 6 D) 12
E 7T®
™M
J"/

O
ABC Ltd. acquired assets worth Rs. 8,10,000 from XYZ Ltd. by issue

¢Pshares of Rs. 100 at a discount of 10%. The number of shares to
be issued by ABC Ltd. to settle the purchase consideration will be...

(A) 6.000 shares (B) 7.500 shares

(-0) 9.000 shares (D) 5.625 shares

EFEBC R 9 XYZ Rt wdel 3. 8,10,000-0 Brasdl Anaat 3. 100+ 42,
J~.0,% 4218 o2 YR 8, dl ABC Rt g2t vidle Bid-l 2% OERCTOERITREG]

E@rﬁ Ayl 9al.
(&) 6,000 A2 (B) 7,500 A2
(©) 9,000 AR (D) 5,625 A

D
73 gg;;um gedrl sl ¢Sl dAal art‘l[?a%tgm R A WA B 7

\/(A) oid selsl

(B) oiq usl
CO

(@) o sels > 49 Aus
(D) %48 sels 2 %Y Aus

‘—31 2.4 5 :
/ (B) 8

(Q) 12 (D) None of the above
1 L. 2,:3, 5

(A) 7 - (B)_8

(C) 12 (D) Gudsa A4 aAsua

AA184_B Page 16 |
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75
T8 A0 Al Y.

(A) Maldy
(C} uaiwiy _(B) waudw
;\(D) UALdY

76 _The Bretton Wood S
. ystem was based on -
\/(A) A silver standard "

(B) A flexible exchange rate system

(C) A gold’exchan
- ge standard system
(D) Nonet.c\iff the above

A2gqs NAL AL Y R sl ?
(A) el (%) Qe

(B) uRad-alle fbiy e wul
(C) A fley Dre vl

(D) GuRsd U4 A5yl «4dl

77 ~Fill in the blank.

Kolkata is ‘; from the equator than colombo.

(A) furthery : (B) farther

(C) more 'f}i:nller (D) furthest
78~ Tobin tax isctax on -

(A) Exports'

(B) Imports

(C) Transactions in foreign exchange

(D) Sales ~

ARt 28 Ay asdldi 2ud 8 7
(A) CisiRl R
(B) 2uldiR
(©) [aRall GRUMEIAL HASRL R
(D) ALl 43
—i
Mlqm Rud o0g2 AA(GIFT) 4 Y3 - wsudl.
(A) 9%RId S2rard s 253l
(B) 2L%ALHRFUA Sl 250dlo-lEl
(C) aiogqld:—tfva@lilda sl 25-1é
(D) aim[dfﬁv&‘ﬂ‘l& sluIRua 25312
r
80 _A rise in pf_i:":es before any festival is an example of -

clic_effect (B) Seasonal effect
Eég Icrfegljl;zﬁ‘ effect _ (D) Secular effect "
A6 weL ddar udal el udl auil I ATT
(A) Asld YR (B) =l »aR
(C) b 2R (D) eledsiell R
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\Sy Who appoints the Finance Commission ?

(A) President of India

(B)

(C) Chairman of Rajya Sabha (D)
el dadl Fees st 187

(A) ™Rl AUl
(C) AGUACUL AHE

(B)
(D) .

82 Capital Redemption Reserve is utilized
(A) To redeem Preference Shares
(B) To redeem Debentures
(C) To issue of Bonus Shares

(D) None of the above

Yl urd sl Gudlel —— w2 4l
(A) Asat A1 Wl 5

(B) Ré=urA ud 54l
(C) el AR Ul

(D) Gusd A4 Asuet 44l

Prime Minister of India
Speaker of Lok Sabha

AURAAL HaLAHA
alsueitl s

3.

83 13 »ule daust wee Qe 3u Puseyniel e

\/ “wigsl’
(A) “Rdd
(C) 4l

(B)
(D)

84 , Dividends are usually paid upon :

(A) Paid up capital
(C) Issued capital

R A3 dd
(A) eiud ulda 3l
(C) osR uidl 3{

(B)

| (D)
YR YsAAIML L

(B)

(D)

85 slusiandat dudgiuid o-yn o a)

(A) YR
(C) 4ysl

(B)
(D)

('RY)
253

Called up capital
Reserve capital

8.
Wouddl 3l
A 4

glost
LEETE]

/
J.s Audit of banks is an example of

(A) Statutory audit

EQC{ ancurrcnt audit Eg))
151 20R2 A i G
(A) Aus »0Re A S e.,
(€) usadl 2Rz EBD)
_ D)
AA184 B "
age 18

Balance sheet audit
All of the above

A~y 2 iR |
BuRlsd M !-
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87 ~What does FIFO mean ?
\/ (A) Finished stock In Finished stock out

88

89

90 -Management ac

(B) Fabrications Inward Fabrications Outward "
(C) Final Input Final Output |
(D) First In First Out

FIFO-l ¢l g 8 ?

(A) Bl Rl 6+ B 28 2062
(B) 3R3u~y §-af 3du-a w6248
(C) s16d Sy2 s15d wB2y2
(D) §% 94 §¢ 2162

The government budget shows the govemmeni‘lsfl'.'l._..l .......
(A) Actual receipts and expenditures
(B) Estimated receipts only

(C) Estimated expenditures only

(D) Estimated receipts and expenditures
ARSI oFe A ABRAL L oldld 8.
(A) ard(ds 2uas 2 vl

(B) Hizt el a5l

(C) it vielrd vl

(D) el w1asl 27 viellrd wal

a3t YU B, 1993 Rotas 3o sirieidl 59 sl Adas
S Coum” woeedl vl SAM wAAAB T

(A) sam - 243(2) (B)- say - 243(%)

(C) sam - 244(%) (D) saM - 245(%)

counting maintains -

t/ B) Ledger

(A) Journal (

(C) Trial Balance (D) None of the above
bl feauell valttl —— seplel™i 21 8.
(A) 2H-Y (B)- vitc1adl

(C) 513 w4 (D) Gudsa WS Asuel dl

91 Fill in the blank. |
c’/:Fhey _____touch pitch will be defiled.
hom (B) those
o (D) that

AA184_B
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\

o

|
9j How often does the Census Bureau take a complete POPulatig, |

|

count ? , |
(B) EVC]’y five years |
Every year _

((g Everrii fen years (p) Twice a year
aadl seadl $2dl (Census Bureau) ysl axdl .ommﬂ Y qi Ads
(A) 2 al (B) & 4 ad .
(C) %R e qy (D) qy & AR

9-3) 43 vl ausad dou seeleL geud b
Biga Gl s u w1 sl -
(A) Bigeel Gl Y16 w2 S Y511
(B) DPigeell Gl Yls uz e1m 33 ©
(C) Bagrell G- is ur 11 %s1Q
(D) Cigetell Gl ls w2 @12 ysiad

94  If value of coefficient of skewness is negative, then it implies that ......
- (A) Mode s larger than the arithmetic mean.

(B) Arithmetic mean is larger than mode.

(C)  Arithmetic mean and mode are same.

(D) - Arithmetic mean is zero,

R [ﬁ‘t‘-lc%l.‘s?_‘is*‘l B2 ), A My 5 ...,

(A) AR U5 53] Ggas )3 2] |

B) tgds 2l wniR ey WA B

(C) uMidR g WA 6|

: $as ol
(D) AidR Ways gy @y W B,

95 Standard deviation of first

" Matura] bers ia
nn+1 mbers is :
Ay Mr+)(n+) -
By 2 =
. (D bove
i 0
M 1 RS o Wy ) None of the
w 2 ny R,
6 2
- 5
O ,
AA184 B (D) Gudsq 44 At ™

S
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36/" ZnL A AR ASEel grapi Y8l Madisn sai L
(A)Zn R Cu % wy (B) Cu W Zn o uiy
(C) Cu?*q x\[Rau wy & (D) @2l aedfl 301 wd) o3

7 A machine that cost Rs. 1,20,000 h

o Rs. 50,000. The book value of m
(A) Rs. 50,000 |

(C) Rs. 1,20,000
A5 Ml ¥l Widz (g 3.1,20,00
8. Ml DY Bug Jeell u ?

_4Agy3. 50,000 (B) 3..70,000
ho@ __3(&3)5,_3. 1,20,000 (D) 3.1,70,000
o P

8 % 786+l 4 "Study very hard", 958+l 4 "Hard work pays" 214 645+
& N ud "Study and work" adl €lu, dl QA-iel 59 Risey "Very" HI2 €ly ?
(A) 8 (B) 6
(€) 7 (Dl Gl A1 Al

y It is generally assumed that the business will not liquidate in the near
e a6¢ foreseeable future because of

Q L=
o)

5 (A) Periodicity (B) Materiality
(,o”b (C) Matching (D) Going Concern

AL vl 518 A5 MR H) ol 1 4l A Aeu A3
HaM 21 8.

(A) AMRsAL (B) ollisdl
(C) Akidy (D) 2ug Wl

as accumulated depreciation of
achine is ?

(B) Rs. 70,000
(D) Rs. 1,70,000
08, AsPrct 40 Hyeun) 3, 50,000

2

100 21%Ad Aoy [[ULAACUAL AL NAH 21248 S8l edl ?

(A) H4Ricm 8L (B) aqddRu s8R
(C) seurizw uddl (D) gedald Qs

101 Ten years ago person A was half of person B in age. If the ratio of their
present ages is 3:4, what is the sum of their present ages ?

(A) 8 years (B) 20 years
(C) 35 years (D) 45 years

e A udai et Al GaR, et B sdi 21adl o, A siani aull B3+l
el 3:4 dlu, dl A+l slal GHa-l Al J2a u ?

(A) 8 ad : (B) 20 ad
((} 35 qf (D) 45 a¥

AA184_B Page 21 |
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102 Which of the following st

atements is trye about the Prim
(A) Tt is difference b

ary deficit ?

(B) 1t is difference between Capital receipts and Interest Payment.
(C) Itis difference between the Fiscal Deficit and Interest Payment.
(D) It is addition of Fiscal Deficit and Interest Payment,

Al 54 ausy wiabys YA onsani i B 7

(A) A %3yl ¥iqs 2y Haydl

WA A dsiqq B
(B) A 4l 2uas 2 oy A5 4AA aglaq &

(©) a AFSL WY Y aqogef] Y5l a2 dsiaq @
(D) a AT WY Y oo Y5AR(Hl Ao

— 15 —3n> +2n-6
\I-OyThe value of 2 nl is
n=l _ '
(A) 5—-6e

(B) 6-5e
(©) 6(e-1) (D) does not exist

. e n3—'3i12+2n.—6
i ae(l Z

o I uq ;
n=l . )

(A) 5-6e . B) 6-5e

(C) 6(e-1) ' i D) «nq

104 ey M2 As aoed e Rusey waig 53
38 GURHL Qa1 51 olitg -
(A) uaqe ' (B) veaqz
(C) 3Ry (D) sAva)

\_1}'5 Accounting Standards in India are issued by

(A) The Sccurities and Exchange Board of
(B) The Bombay S0

(C) The Institute of Chartered Accountants of India (ICAI)
(D) The Reserve Ba

_ nk of India (RBI)
MRAUL (Bl QRe) v, BLRL SLSIR W] 21 & ?
(A) BRA B-s 3

53+ o)\§ iy SR (SEBI)
(B) 61 215 N sudeey (BSE)
(€) d[Rezyz 2i\g 20158 N1Ge2
(D) Rad A3 25 s (RBI

AA184 B

India (SEBI)
ck Exchange (BSE)

2 g $[RuL (ICAID)
)

Page 22
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106 Number 9"—-1, ¥Vn > | jg

107

108

/1-09

110

(A) prime ceeimaiczal?
(B) odd

U3 cven (D; None of the above

AvYL 9", ¥n > 19 3

(19 W @B a4

S) A | (D) GuAsd U4 wsua 1l

lf.tlfllebdemand for money is perfectly interest inelastic, the LM schedule
Wil c

(A) Upward sloping (B) Downward sloping

(C) Horizontal line (D) Vertical line

B Rl diot 2iyelug) ey e e @d, dl LM duusil a1 3dl ¢ ?
(A) ud4 e (B) =88l a0

(€) udl 2m . (D) Glefl Rvu

AU ANUAL A9ud wizel Rreain s A Brecr>i-t earigll et-iadii
ey ?

(A) Y% - 5%9 (B) 5%9 - oi-14sisl

(C) s-asisl - HauLl (D) HRss1 - H3AUBL

Which of the following is broad money in India ?

(A) Currency with public + demand deposits in the banks

(B) Currency with public + demand deposits in the banks + other
deposits with RBI

(C) Currency with public + demand deposits in the banks + time
deposits in the banks

(D) Currency with public + demand deposits in the banks + time
deposits in the banks + other deposits with RBI

afad ol AAil 54 [Egd g S ?

(A) sl WA 8¢ aaell gl + dsui eell A1y Azl

(B) sl WA 8¢ Aasll g + Asui 28ell g Avell + w0l i
28l -y el

(C) Sl W 8¢ uaell g + s Well g el + Agni 3] yedl
yLuell

(D) Al wd g 2aell g + dsi dell g wnel + Gsuj 23 yedl
aryell + RelS WA Wl 2y yyg))

w0 sl As-l AR Rsey gy,
wddla wadeiz ol vl
(A) wddldl @aeR dPBE YL
(B) widdlel ellowsi #R1l
(C) wddl WA wa-iei2 dlausi qey
(D) wddld @aq o ed

AAl184 B Page 23

Scanned with CamScanner



111 Discount on issue of debentures is a .
(A) Revenue loss to be charged in the year of issue
(B) Capital loss to be written off from capital reserve
(C) Capital loss to be written off over the tenure of the debentures
(D) Capital loss to be shown as goodwill
qaladl Rela o1z wisai 20 dl RA=R Q21 A ...
LA) eydl iz B 3 ¥ RA-AR o1z uidd i ayaai 24 8
B) Y e 8 3 ¥ A rrnarial il awnani 2ud 8
(C) HA vz 8 5 ¥ Rl sidsinni 2l cwnai 2ud 8
(D) 3 w2 8 3 % wad alld eulaami »0d 8

11295 QA 3Rt 400040 e wWHal. 138 10% sl 201, sudl-d)
\/ Md Jedl 25t g1l Qudl ASA 3 Fdl A 25% 8\ A ?

(A) 20 B) 30
(©) 40 (D) 45
/

113 Consider the following l:ll_?ps ;

\\/1. Corporation tax, 2. Customs duty, 3. Wealth tax, 4. Excise duty.
Which of the above is/aré indirect taxes ?
(A) 1 only C; (B) 2 and 4
(C) 1 and 3 e (D) 1,2 and 3

~l

(AL 534 AR Al ;. @

1. slulRa a3, 2. 54 3, 3. Aqul A3, 4. s AR,
GY-L U4 suL YR1E 5 8 7

(A) &5 1 (B) 214
(C) 143 g (D) 1,243
114 / The liabilities of an auditor can be
\/ (A) Civil ™ (B) Criminal
(C) Civil and Criminal © (D) Financial
AReal gastedladl T &S a3 B,
(A) fAail e (B) slweldl
(€) elarll w4 sleldl (D) -teusly

115 During September, Ramesh had sales of Rs. 1,48,000, which made a
&ross profit of Rs. 40,000;, Purchases amounted to Rs. 1,00,000 and
opening stock was Rs. 34;000. Find out the value of closing stock.
(A) Rs. 24,000 N (B) Rs. 26,000
(C) Rs. 42 000 ™ (D) Rs. 54,000
AR Ly v 309 3. 1,48,000+ Qe 54 ed, %9 3. 40,000+ 513

48l 4l tdl. WAl 2Ho3. 1,00,000 24 w3 2915 3. 34,000 edl.
AR R ey g\,

(A) g i‘;»gOO (B) 3. 26,000
(C) 2 74,000 (D) 3. 54,000

AA184 B Paon 24 Wﬁ\
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116__Which one of the following bodies will decide the tax rates for goods
\/' and services under GST regime ? -
(A) Central and State government

(B) Finance Commission ﬂj

(C) NITI Aayog “

(D) GST Council e

<l

DAUL Auells2l wghini e 2 A w2+l Al e Al 5§
AL 58] 529 ?

(A) 35 29 A% ¥R
(B) e vy

(C) A& 204121

@ DNA2 516y

{

1

4032010

O
117 522 812, ol »id Rl (M3ueisal 12 sul usl 3% G 8 7

(A) AR $A% (B) AR 'éi_w
€). Ry Sy (2) LT LS
O

yCapital Structure is said to be opti@?l when
(A) Weighted Average Capital Cost(WACC) tends to decline
(B) Weighted Average Capital Cost (WACC) is the lowest
(C) Cash is sufficient to meet debt
(D) None of the above
Sradn d My SR ssa ? 5
(A) SlRd A2 4 W uedl W’
(B) ol w3l AR et A
(C) diysaal Rl Ass & O

(D) Gualsd 14 Asuel €l o

Q0

—

.119, In approach, the capital structure decision is relevant to the
Valuation of the firm.

(A) Net Income (B) Net Operating Income
(C) Traditional (D) Modigilani and Miller

* o s HI Ml Frely Al yenise wid yridld
€lu B,
(A) vl s (B) vl sidsidl wias
(C)- uRuwlld (D) *WNABre-Par

AA184_B Page 25
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120 /02 afdd Assi Do Ad Al :
%/ (a) %2[}{6@ anlsa \_/L]_) el

(b) enalzisz salRu ) (&%
(C) RAHURIAUBL WIS ) aldd
(d)  FHIUSR oA 4) sdid

A). c2, a-1, d-3, b-4 »(B) a-1, b-3, d-2, c-4
(Qf b-2. c-4, a-3., d-1 g(\D) d-4, c-2, b-1, a-3
121 Which of the following tax is not subsumed by GST ?
~ (A) Purchase tax (B) Entry tax
" (C) Luxury tax (D) Stamp Duty

A gl Al s4) 24 Aaldl 2l ?
(A) wdlel Gur-l 52 (B) nda £
(C) Malvel dzg U 52 (D) 2 &2l

11@/4&3&&1 w5z [asedyidl .
% Jead 321 € dl HlY, 3 e R ¢l ¢y
(A) uMs (B) Gl
©) cUl4UIRA (D) idWA

123 Redeemable preference shares must be redeemed within :

(A) 5 years (B) 10 years
(C) 15 years (D) 20 years
A030d As-1 A1 32di Qi Yd s3q1 Qs B ?
(A) 5ad (B) 10

(C) 15 ad L (D) 20 a¥

13% Fill in the blank.
Antonym of adjustment is
(A) in-adjustment (B
(C) mal-adjustment

) adjustable
(D) non-adjustment

|
125 CA)' it?_l Budgeting is related to _ ]
ong t ’_
(C) Fixegd :;:;,[:%ets (B) Short term assets i
) D N & A &
Yl axe IR DR ey (D) None of the above

(A) aiowuousl Mesd _
(C) R Masd) ‘ (B) gsouo-l Masdl

(D) GuAsd W4 Asuvl ]

AAIRd R
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126 To reduce the Type-I as well as Type-II error, we should -

L/ (A) Decrease the sample size
(B) Increase the sample size
(C) Take sample size as small as possible
(D) None of the above 0 _
ey Wil e Ay [dlu wsil ejd sansan w2 ASA
(A) [(edd st "alsq
(B) [Medd s¢ qurRg
(C) [Medd s s €lu deg g Aag |
D) Gusd Usl 25 wst A€l

i2}The bridge being constructed on the Nyle, is the longest bridge of the
world. (Use 'Adjective clause')
(A) The bridge is being constructed on Nyle

the world. '
(B) The bridge that was being constructed on Nyle is the longest

bridge of the world.

(C) The bridge what is being constructed on Nyle is the longest
bridge of the world.

(D) The bridge which is being constructed on the Nyle is the longest

— bridge of the world.

is the longest bridge of

128 The concept of vicious cycle of poverty is associated with
R (A) ].M. Keynes (B) Regner Nurkse
(C) Karl Marx (D) I.S. Mill
aiflelldl [nasl vl S 2l Aol 8 ? :

(A) %.23. 36 (B) IR 5
©) sid wsd (D) %.2. M4

129 03 2dd asasd el ) Risey 4.
g s ud?

(A)-driell 4 59 as ?

€) el 1Y 54 usl

(B) dedl g sus ud ?
(D) oy ¥ 53 wsy drudl

130 As per 2011 census, which state in India is with the highest rural
" population ?
(B) Mabharashtra

Madhya Pradesh
(A) A (D) Uttar Pradesh

jab
gco)l l«l[Dlu:icﬂ aelddl 3o Ml 54 AR el ay el @xdl 41d 8 ?
A) W& HEd (B) U8RI
(8) (D) GuR Meu

() vt
Page 27
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\IJ 1 3Rl el 21 a0l
gl {19 vl J
(A) seuleisusl 3sd 539 (B) Qtllll..‘{l[bal..‘s 8l
(C) ¥4 1 8d (D) 634 59
132 The unknown population quantities associated with the population

Q/ " distribution is called : :
(A) Sample Constant (B) Estimator
(C) Parameter (D) All of the above

a1 RidRal i 2ioifid staud @l Al —— 58 .

(A) Red 2aais (B) LS
(C) waa (D). -GuAsd
133 is the correct sequence of payment of dues on dissolution

v of a partnership firm.

(A) Partner's loan - Capital — Creditors — Securcd loan

(B) Creditors — Secured loan — Partner's loan — Capital
(C) Secured loan — Partner's loan — Creditors — Capital
(D) Secured loan — Creditors — Partner’s loan — Capital
eoletdl AL Rt avid ygaaidl eudl el gsael-Al 40U $3
s B 7
(A) owlerd d- -3l - Qe - YA @l
(B) Auietd - Yl dirt - coller-dl dlr - 34l
(C) ¥l dirt - cudlleR-Al dll - daieRl - 3
(D) ¥ Al - Aueld - eller-l dl - 3

134 Fill in the blank.

ﬁir, this is the price | can take.
(A) most little (B) littlest
(C) little ([p least

Mns In which tool of financial analysis, change compared to last year is
presented in percentage ? I

(A) Comparative statement (B) Com i
' _ mon size statement
(C) Accounting Ratio (D) Cash flow statement

ey Rsdnei-L suL AL, L o) . .
. ' (
3% sl 21d B ? qa-imi ade) 389 sl

(A) dd-ilcts Yasl

B .
() Reauell Az (B) e My wadl

(D) A5 nas waAs

136/ “daiudl A% Raw'q 5§ QW y :
\/(A) 15 DR “““tl[‘;l wd B ?
(C) 28 -yuid B) 24 Ala

D) 13

AA184_B Pagsith
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137 Traditiona] approach confines Finance function only to funds,

~— (A) Raising of Finance (B) Mobilising of Finance
(C) Utilisation of Finance (D) Financing
NRURLLA AR yopeq oy S yag wulRa B,
(A) =i Glou 531 __ (B) -t afisNadr quizd)
©) il quaiy 539 (D) tRiig FReL s2q
¥ ABODN (452213 26) yum i 1B = B < u
RQ=G ay, @ Mp - 8 "
(AL-1 (B) V
©) o (D) E

139 Consider a poin A(0.2) and B(L1) in the X ‘plane; -consider all
possible paths 4PB where P is an arbitrary point on x-axis and 4P

and PR are straight line segment. Then the coord_inate of the point p
such that the length of the path APB is shortest among all such

possible paths js :

XY44daHi Rigll 4(0,2) 21 B(1,1) adi, den X-V8 U 4Ly Rig P
Al D AP 242 PRell ity o) yy APB Qdi-lldl 39 4PB yy
ol d MR Rig P Aium gy -

(3)/(0, 0) . @®) (. W o
(C) (0.5, 0) (D) (1, 0)

Wn estimate of population parameter given two numbers in which the
parameter may be considered to lie is called -

(A) Interval estimate of the parameter
(B) Interval estimator of the sample
(C) Point estimate of the parameter
(D) None of the above

AU [RAL WAL PRI HIZ A Ay § o) 92 ARl WiAe-] Bug
glatd dai 21d 8 dq 548,

(A) HAG] 2djAA 210181+
(B) [Meald »idue oy
(C) was Rig 20814
(D) GuAsd Ul 28 yor &l

AA184 B Page 29
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[ - f 1969
141 The (Monopolistic and Restrictive Trade Practice) MRTP Act 0

\/’ has been replaced by |
(A) Competition Act 2002 14
(B) Merged in Industrial Policy Act of 1978
(C) Trade Union Amendment Act 2001__ B
(D) Merged in Industrial Policy Act of 1991
af 1969+t (Sl 247 uaelds AUR yeyt) o o8l A2l A
sl As2 el A4 B 7 '
(A) AMRRad As2, 2002
B) af 1978 »elPis Ak Aseni wulre 4dd
(C) ¥ 20011 28 Yyt A=A~z A52
ED) ¥ 1991+ 2Nellis [t As2i uHfare 2dd

\19/{[:1 e dayel aoed Rie 3u Riseyuidl 2.

(A) dvet (B) 3ug
(€) ausd ' (D) 2ug

143/"If probability':':of having a male or female child is equal, then the
/ probability that woman's fourth child ‘will be her first son is :

(A) 0.0625 (B) 0.078
(C) 0342 1)+ (D) None of the above

A 12 2l U Al sl qeuanl Wi €, d Q 0 g ouas
d-tl uay you 1y d-l Aeqadl...... ..

(A) 0.0625 (B) 0.078
(C) 0.342 (D) GuRAsd Ul A5 ygy ]

144 a1t e wfMas, 19934 Aot yosol Prea daiuds g2l
. . CIETSA T
Ass Ayl Ay Ad Jedlar HA B ? h

(A) 4 (B) ar g 16X
(C) = ' Vi
(D) uin G
Wuuu ........... +95!=a (mod 15), then q =
A 1+204+..... +95!=a (mod 15), d g =
(A) 0 (B) 1

© 2 (D) 3
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146 21d-l uRg taasu ‘wradlaig™«L uFs el sl ?

147

148

149

AA184 B

(A) sl equduy - (B) »Awie Huell
(O 2lad-uy Bwié) (D) s ey

If the fair V&]}Je qf an equity share of a company is Rs. 450 and its
market value is Rs.‘420, then the intrinsic value of share is

(A) Rs.480 ~ (B) Rs. 440

(C) Rs. 870 (D) Rs. 400

2 S8 Sudlil §Ead Ang ool YU 3. 450 ® A dd enR e 3. 420
S, dl A AidRs jey T . b R

(A) 3. 480 | (B) 3.440

(C) 3. 870 " (D) 3. 400

As a costing team member, calculate the gross profit; if sales
Rs. 6000; cost of sales Rs. 5000; opening stock Rs. 1,000; purchases
Rs. 4000; wages Rs. 2,000 and office rent Rs. 1,000.

(A) Loss Rs. 2,500 ¢/ (B) Loss Rs. 1,500
(C) Profii Rs. 2,500 (D) Profit Rs. 1,000

o Q8L 3. 6000, AUIBL HdR 3. 5000, U3 s 3.,1000, W<l 3. 4000,
Q- 3. 2000 it 2F3 Y 3. 1000 SlU, dl sl sl 2Rl s,

(B) 3. 1,500 w2

(A) 3. 2,500 ve
(D) 3. 1,000 )

(C) 3. 2,500 -8l

Which one of the folllow.ing is a "Variable Cost' ?
(B) Administrative Staff Salary

(A) Indirect Material
(D) Interest on Bank Loan

(C) Salesman's Commission
eniel 549 ‘Al wd” 9 ?
(A) . uRal HE-AAI

(C) Attt st (D) s @l YR A%

(B) adladl stz wour

y@mt iz el Fegs R A uad 2idld 4 %elgcii'.
y sRald s (B) LA+ 24 -

(€) Abi-tlenet dfu (D) A2, 6553
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